SR

6. SEEHRE

#&38 RARIZHT-XBITEER

CAPN) 3 AR
X sy #% | 1A [ 28 | 3 | 44 | 5A | 684 | 7TH | 8A | 98 | 104 | 114 | 124
“ #| 145 20 12 13 14 9 10 14 15 6 5 14 13
B #&| 68 11 6 8 5 3 1 8 5 2 2 1 4
A T 71 9 6 5 9 6 3 6 10 4 3 1 9
th x| 27 4 1 3 5 2 2 2 3 - 1 - 4
SN 7 3 - 1 1 - 1 - 1 - - - N
A I 20 1 1 2 4 2 1 2 2 1 4
e x| 9 2 - - 1 - - 1 1 2 - 2 -
0o K| 5 - - - 1 - - 1 - 1 - 2 -
AT 4 2 - - - - - - 1 1 - - -
Fq x| 18 1 2 2 3 4 4 2
B %9 - - 2 1 2 - - 1 - - 2 1
ATl 9 - 1 - 1 1 - - 3 - - 2 1
[} x| 24 4 2 2 2 1 1 3 1 2 2 4 -
B 14 3 2 1 - - 1 2 1 1 2 1 -

A I| 10 1 - 1 2 1 - 1 - 1 - 3
%o M K| 3l 6 5 2 2 1 3 5 3 - 2 - 2
B K| 20 3 4 2 2 1 2 4 1 - - - 1
A T 11 3 1 - - - 1 1 2 - 2 - 1
o e db X 1L 1 1 1 1 1 1 2 3
RN - - - - - - - - - - 2 1
AT 8 1 1 - 1 1 - 1 - 1 - - 2
7 2= x| 9 - 1 1 - - 2 1 - - - 2 2
ST N ! - - 1 - - 1 1 - - - - 1
AN I| 5 1 - 1 - 2 1
1 1 x| 16 3 1 3 1 1 2 1 3 1 - - -
ST N G 2 - 1 - - 2 - 1 - - - -
AT 10 1 1 2 1 1 - 1 2 1 - - -

&3 FERHIH-FEHECH - A& (HE+RAEE) FTx
CTRPN)
5t = e =

4 /s TRl ETeE]
mremsee | g | OVEE | e | s | 00
TRk 224F 46 34 12 4.0 3.0 1.0
23 41 36 5 3.6 3.0 0.4
24 44 34 10 3.9 3.1 0.9
25 35 28 7 3.2 3.0 0.6
26 29 22 7 5.2 2.6 1.3
27 34 26 8 3.2 4.0 0.7
28 41 36 5 3.9 2.4 0.5
29 25 22 3 2.5 3.4 0.3
30 40 30 10 4.0 3.0 1.0
31 34 27 7 3.7 2.9 0.8
R 24E 28 23 5 3.0 2.5 0.5
3 17 13 4 1.9 1.5 0.5
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=40 ARlIZH-XBEEHETH

SEREREH

(BT 0 AN) AF 3 4E
X gy | ¥ | 1A | 2 | 3A | 4A | 5H | 6A | 7TA | 83 | 9A [ 10H | 11A | 124
“ # 17| 8| 2| - 3| - 1| 2| -| - 1] 2
% B %E E 13 2 2 - 1 - 1 2 - - - 2
Bggarwe | 4| 1| -| -| -| 2| -| -| -| -| -| 1| -
Gy X[ 2 1 - - 1 - - - - - - - -
% W o pE 2 1 - - 1 - - - - - - _ _
A R T - - - - - - - - - _ _ _ _
o X 1 - - - 1 - - - - - - - -
% W o pE 1 - - - 1 - - - - - - _ _
B RsE T - - - - - - _ _ _ _ _ _ _
53] X 2 - - - 1 1 - - - - - - -
% W o E 2 - - - 1 1 - - - - - _ _
B RsE T - - - - - - _ _ _ _ _ _ _
] X 4 1 1 - - 1 - - 1 - - - -
% W s pE 3 1 1 - - - - - 1 - - - -
A T 1 - - - - 1 - - - _ , _ _
7 e M K| 5 - 1 - - 1 - 1 1 - - - 1
% W o pE 4 - 1 - - - - 1 1 - - - 1
B RE T 1 - - - - 1 - - - _ _ _ _
7 B Jb K| 3 1 - - - - - - - _ _ 1 1
% M 1 - - - - - - - - _ _ _ 1
smgewsee | 2| | - - -| -1 -| -| -| -| -| 1| -
7 e x| - - - - - - - - - _ _ _ _
% W o E - - - - - - - - - - - - -
B R T - - - - - - - - , _ _ _ _
% 1H x| - - - - - - - - - _ _ _ _
% W o E - - - - - - - - - - - - -
B R T - - - - - - - - , _ _ _ _
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FERERRE

R4 ERBEHA=H-EAIFEER
(BEA7 A F0 3 4E
# H X % & N L ¥ pE
w1222 28 37| |12 22 28 37| 12| 22| 28| 37
X 4y bl bl |
{ { ! 5 ! ! { 2 { { { o
ol 21| 27|36 F| % |21 27|36 | k| # | 21| 27| 36| E
i 5 145 132 2 9 2| 68| 55 2 9 21 71 T - - -
th X 271 25 1 1 - 7 5 1 i - 20 20| —| —| -
H X 9 gl — 1 - 5 a4l — 1 - 4 al - - -
5] X 18 16| — 1 1 9 71 — 1 1 9 af —| —| -
i) X 24| 21 1 2l —| 14| 11 1 2l —| 10| 1of —| —| -
% B omE K 31 271 — 3 | 20| 18] -— 3 i 1 ul - - -
7 o | 11y 10| - | - 3 2l — 1 - 8 gl —| —| -
77 £ X 9 9l —| —| - 4 4l - - - 5 51 —| —| -
1 1A X 16| 16 — — — 6 6] — — —| 10l 10 — — —
F=42 TERRBAFHAICHT-BOEE OEBEHR) BIFEEL
(BT + ) AF0 34
e H X W N L ¥ JE
ol 122228 37| |12 22 28| 37| | 12| 22| 28| 37
= i i) iz] S|
! { { 2 { { { 2 { { { B
ol 2t | 27|36 | E| #2127 36| | % | 21| 27| 3| E
E N g 145 132 2 9 2| 68 55 2 9 2( 171 77 - - -
15 % K -1 =t -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -
15 ~ 19 %% ul w1 - -1 -1 -1 -t -1 -1 -| 1} 1 - - -
20 ~ 24 % 5 15 —| —| - —-| —-| —-| - -—| 15 158 —| —| -
25 ~ 29 % 39 35| -— 3 1 18] 121 — 3 1 23 23 —| —| -
30 ~ 34 % 35 29 2 3 1 26/ 20 2 3 1 9 9 —| —| -
35 ~ 39 % 30 28] -— 2l —| 18] 16| -— 2l —| 12| 12 —| —| -—
40 ~ 44 5% 14 13 — | - 8 71 — 1 - 6 6] —| —| -
* ) i 1 i -1 -1 -1 -1 -1 -1 -1 - 1 i -1 - -
=43 BOEHE ORmMEHR) AIH-XBIFEER
(BT + A) AFn 34
[Ee i ey H W E3] i3] e | Ak T s
E N ] 145 27 9 18 24 31 1 9 16
15 & K — — — — - - - - -
15 ~ 19 5% 11 3 — 1 1 1 2 — 3
20 ~ 24 % 15 4 — 4 — 1 1 — 5
25 ~ 29 % 39 6 1 4 8 7 5 6 2
30 ~ 34 % 35 7 3 3 8 10 1 1 2
35 ~ 39 % 30 4 1 5 7 9 — 2 2
40 ~ 44 5% 14 3 4 1 — 2 2 — 2
- D f 1 — — — — 1 — — —
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7. UEYRERET

F44 AR A =X R 9B IR 4 2

ISR

CHA7 2 1) N 3 4R
X 53 ¥ | 1A | 2A | 3A | 483 | 58 | 6A | TA | 84 | 94 | 108 | 114 | 124
#% # 5,310] 439 485| 688 360| 446| 377 416 441 292 299| 669 398
aE X 753 58 67[ 103 45 69| 43 65 60[ 42 51 92 58
w X 467 37 46 59 28 26 321 40 36 28| 28 62 45
k] X 645 56| 64| 85 47 57 39 45 51 35 30 84| 52
[ic} X 1,012 91| 101| 136 72 70 77 76 92 39 63| 124 71
7 e MK 1,152 85| 103| 151 74 99 98 94 87 63 67| 162 69
Z B db K 411 33 39 46 36 49 27 25 37 24| 23] 44| 28
7 = X 336 34| 28] 41 24 29 25 22 27 27 17 33 29
1k 18 X 534 45 37 67 34 47 36 49 51 34 20 68 46
F+45 KRIFHEEDOFH OREFER) ACAHT-IFREE
(R4 2 1) 4Fn 3 4F
*| & 15 15 20 25 30 35 | 40 | 45 50 55 60 ~
i { { { { { { { { { o
e # T 19 24 29 34 39 44 49 54 59 s B
E # | 4,039 - 39| 766| 1,816| 852 345 142 53| 20 6 - -
15w K W - - — — — — - — - — - — —
15 ~ 19 % 66 — 31 27 5 2 — 1 — — — — —
20 ~ 24 % 1,009 — 8 552 349 71 22 5 2 — — — —
25 ~ 29 % 1,885 — —| 170] 1,260 368 65 17 5 — — — —
30 ~ 34 % 729 — — 15| 177 350 137 42 6 1 1 — —
35 ~ 39 % 244 — — 1 20 52| 106| 48 14 3 — — —
40 ~ 44 % 79 — — 1 5 9 10 25 19 8 2 — —
45 ~ 49 % 20 — — — — — 5 2 7 5 1 — —
50 ~ 54 % 6 — — — — — — 2 — 3 1 — —
55 ~ 59 % — — — — — — — — — — — — —
60 m LI Lk 1 - — — — — — — — — 1 — —
Z( g‘ — i _ i _ i . i . i . _ i
Kl & SIS OGE
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PSR R

FA6  FRRANH =T WIEF

IR
N=TH UNSTS 4 [H
PN
M Fn 50 4 26. 7 24. 4 27.0 24.7
60 28.0 25.3 28.0 25. 2 28. 2 25.5
Fopk 13 AR 28.8 27. 1 28.5 26.8 29.0 27.2
14 28.9 27. 4 28.6 27.1 29.1 27. 4
15 29.3 27.7 28.9 27.3 29. 4 27.6
16 29. 4 27.8 29.1 27.5 29. 6 27.8
17 29.5 27.9 29.3 27.6 29. 8 28.0
18 29.7 28. 2 29.5 27.8 30.0 28. 2
19 29.8 28. 2 29.5 27.8 30. 1 28.3
20 29.9 28.3 29.7 28.0 30. 2 28.5
21 30. 1 28.5 29.8 28. 2 30. 4 28.6
22 30. 2 28. 8 30.0 28. 4 30.5 28. 8
23 30. 4 28.9 30. 1 28.6 30. 7 29.0
24 30.5 29.1 30. 2 28.7 30. 8 29. 2
25 30. 7 29. 4 30. 4 28.9 30.9 29.3
26 30. 7 29.3 30.5 29.0 31.1 29. 4
27 30. 6 29.1 30.3 28.9 31.1 29. 4
28 30. 6 29.1 30. 4 28.9 31.1 29. 4
29 30. 7 29. 2 30.5 28.9 31.1 29. 4
30 30.5 29. 2 30.3 29.0 31.1 29. 4
31 30. 4 29. 2 30.5 29.1 31.2 29. 6
4 2 4 30.5 29.3 30. 3 29. 0 31.0 29. 4
3 30.2 29.0 30.1 28.9 31.0 29.5

o RIS OERIEFE B2 R R E I REZBD 2RO 5 BRI OFERTH D,
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8. HEEIEMRET

&A1 RRIZH =R B IR

BEhEHeE!

(AT - ) A0 34
X 2y | k| 1A [ 2A | 3H | 43 | 5A [ 6A | 7TH | 8H | 9A |10 | 114 | 124
73 #(1,780( 153| 130| 210 171 138 168 122 138 135| 144| 123| 148
G2 x| 231 12| 23] 24| 21| 15| 24| 15| 17| 16| 17| 23| 24
3 x| 187 19| 11| 24| 24| 13| 19| 14| 16| 14| 13 71 13
£ x| 202 14| 13] 30| 18| 12| 18] 12| 16| 15| 19 15| 20
[ic} x| 274 31| 15| 26| 23| 28] 23] 24 19| 22| 23] 16| 24
2 fe m X[ 357 24| 27| 45| 43| 32| 33 26| 22| 26/ 30| 20 29
2 f Jb x| 205| 21| 14| 25| 22| 10| 19| 14| 22| 16| 11| 17| 14
% B x| 95 8| 11| 10 9 8| 12 3 71 10 5 7 5
e 1A x| 229 24| 16| 26 11| 20| 20| 14| 19| 16| 26/ 18 19
48 FEEER A 1= 5B HARE Bl B B 44 2

(A0 - 1) A0 3 4

[Fi Je=- 440 i 5y B s #wH REIES Fnfi Rt

# - 1,780 1,534 152 46 22 26 —

6 7 H K W 49 41 5 1 1 1 —

64 A ~ 1R 53 47 5 — 1 — —
I~ 24FK 116 107 7 2 — — —
24~ SHERIH 120 109 6 3 — 2 —
3~ AR 115 100 8 5 2 — —
YA ~ BEERTH 93 84 6 1 1 1 —
BEE ~ 104 A 303 251 33 8 5 6 —
104E~ 154E KT 236 206 21 5 1 3 —
154E~ 204E AT 191 168 17 3 2 1 —

20 4 Lk 337 291 25 8 3 10 —

N 3 167 130 19 10 6 2 —

91



